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Name	 Date
13

1.	 Use the model to help you complete the statement and divide.

​3​ is ​​ 1 _ 4 ​​ of what number?

​3 ÷ ​​​ 1 _ 4 ​​ ​= ​

​​ 1 _ 4 ​​ of ​ ​ is ​3​.

2.	 Draw a tape diagram to find the quotient. Then complete the division equation.

​5​ is ​​ 1 _ 6 ​​ of what number? ​ ​ 

​5 ÷​ ​​ 1 _ 6 ​​ ​=  ​

Use the Read–Draw–Write process to solve the problem.

3.	 There are ​15​ books on a shelf of a bookcase. This is ​​ 1 _ 5 ​​ of the total number of books on the 
bookcase. How many books are on the bookcase?

0

3

?

1
4

2
4

3
4

4
4



Copyright © Great Minds PBC84 PRACTICE

5  ▸  M3  ▸  TC  ▸  Lesson 13� EUREKA MATH2

REMEMBER

4.	 Adesh forgot to put parentheses in his equation. Insert parentheses to make Adesh’s number 
sentence true.

11  ×  1  +  2   −  3  =  30

5.	 Evaluate.
(49 ÷ 7) + (9 × 7)


